Example

The radiator fan of an automobile engine whose crankshaft is aligned with the longitudinal axis
is rotating at 1,000 rev/min, clockwise as viewed from the front of the vehicle. The automobile is
following a 60-m radius left turn at a constant speed of 75 km/hr. Determine the angular
velocity and angular acceleration of the fan.
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Example

Collar C slides relative to the curved rod at a constant speed u, while the rod rotates about the
horizontal axis at the constant rate Q. Determine the acceleration of the collar in terms of 6.
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Example

In the position shown, cylinder A is moving to the right such that its center has a speed v. There
is no slipping between the cylinder and bar BC, but there is slipping between the cylinder and the
ground. Determine the angular velocity and angular acceleration of bar BC, and the velocity and
acceleration of the cylinder at the point where it contacts the ground.
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